
 PARTS LAYOUT

APR 27, 2016 - Rev. ACOPYRIGHT - 2016 - FENDER MUSICAL INSTRUMENTS CORPORATION
Page 1 of 6

4 53

                     STANDARD STRATOCASTER HSS ® (014-4700-XXX/014-4702-XXX) 

 7 6

2

1

 9 8

161510

1918

161511

1413

222120

262523 27

2524
26 27

3029
31 32

3837

3837

35

34

36

33

 9

3536

12

17

28



PARTS LIST

Page 2 of 6
APR 27, 2016 - Rev. ACOPYRIGHT - 2016 - FENDER MUSICAL INSTRUMENTS CORPORATION

                     STANDARD STRATOCASTER HSS ® (014-4700-XXX/014-4702-XXX) 

1 BODY STD STRAT AWT B&P+CAV 0099674580
BODY STD STRAT BLK B&P+CAV 0099673506
BODY STD STRAT SBS B&P+CAV
BODY STD STRAT CAR B&P+CAV

7701074532
0099673509

BODY STD STRAT LPB B&P+CAV 0099673502
BODY STD STRAT MDW B&P 0029547575

2 NECK STD STRAT RW PAINT 2CT 0077945000
NECK STD STRAT MN PAINT 2CT 0077946000

3 KEY GTR DUAL PIN MNT 0037429049
4 WASHER KEY 0053106049
5 BUSHING KEYS 0058820049
6 STRING TREE, VINTAGE NI 0994910000
7 SCRW SMAB 3x3/8 RHP NI 0011357049

11
10
9
8

SPRING HB MTG 3/4"

PICKUP ASSY STR MEX MID SOUTH PARCH
PICKUP ASSY STR MEX NECK PARCH

PICKGUARD STRAT 1HB P/B/P

0050167049

0077911000
0077910000

0090878000

12

17
16
15
14
13

SCRW 6-32X3/4 RHP TAPTRI L ZA 
TUBING LATEX CUT .300 x 1/8ID x 1/4OD
SCREW M#3-48x13/16 RHP#4 HD ZA 

KNOB TREMOLO ARM PARCHMENT 
SCRW-WD 6X 1 1/4 RHP ZARTAN 
STD BRIDGE ASSY RH SGGB

0095457000
0021421049
0071014049
0048631049
0994916000
0050166049

SCREW-MA 6-32X5/8 RH ZARTAN 
KNOB PICKUP SWITCH PARCHMENT
SWITCH 5 WAY LEVER W/METAL GRG

21
20
19
18

0994925000
0047329049
7705095000

FERRULE JACK CHR STD STR 
JACK PHONE 1/4 - OUTPUT - 
CAP MPF RDL .022MF 250V 10%
CONTROL 250K 10% TPR SPLIT
WSHR LCK INTL 3/8x.500x.020 NI 
NUT HEX 3/8-32x3/32 TK NI

KNOB STRAT VOLUME PARCH 

0047329049
0024832000
0990830000
0022384049
0016352049
0056254049
0056254049

0033023000

KNOB STRAT TONE PARCH24
23
22

28
27
26
25

30
29

SCRW SMAB 4x1/2 OHP NI 0015578049

PICKUP HB STD WIDE PARCH 0077909000



PARTS LIST

Page 3 of 6
APR 27, 2016 - Rev. ACOPYRIGHT - 2016 - FENDER MUSICAL INSTRUMENTS CORPORATION

STANDARD STRATOCASTER HSS ® (014-4700-XXX/014-4702-XXX) 

31 NUT HEX 3/8-32x3/32 TK NI 0016352049
WASHER LOCK INTL 3/8 X .687 001643604932
SPRING TREMOLO TENSION, NI 005092200033
SPRING, TREMOLO CLAW NICKEL 005091800034

35
36
37
38

SCRW SMA 8x1-3/4 OHP NI 0015636049
PLATE BACK STR AS RH P/B/P 7705260000
BUTTON STRAP NI 0.156 0994915000
SCRW SMAB 5x1 OHP NI 0015610049



WIRING DIAGRAM

Page  4 of 6
APR 27, 2016 - Rev. ACOPYRIGHT - 2016 - FENDER MUSICAL INSTRUMENTS CORPORATION

STANDARD STRATOCASTER HSS ® (014-4700-XXX/014-4702-XXX) 

TONE 
T2 

WIRES TO
OUTPUT JACK

CAPACITOR
.022 mF

MASTER
VOLUME

BRIDGE
PICKUP

NECK
PICKUP

MIDDLE
PICKUP

5-WAY
 SWITCH 

TONE 
T1 



SWITCH AND CONTROL FUNCTION 

Page 5 of 6
APR 27, 2016 - Rev. ACOPYRIGHT - 2016 - FENDER MUSICAL INSTRUMENTS CORPORATION

MASTER
VOLUME

   NECK
  PICKUP

 TONE 1
    (T1)

  MIDDLE
  PICKUP

  BRIDGE
  PICKUP

 TONE 2
    (T2)

STANDARD STRATOCASTER HSS ® (014-4700-XXX/014-4702-XXX) 



STANDARD STRATOCASTER HSS ® (014-4700-XXX/014-4702-XXX) 

ADDITIONAL SPECIFICATION DETAIL 

Page 6 of 6
COPYRIGHT - 2016 - FENDER MUSICAL INSTRUMENTS CORPORATION APR 27, 2016 - Rev. A

6.4 - 7KΩ

8.0 - 8.4KΩ

.103’’

2-7/16’’

.046’’

Ø .397”

TUNING MACHINE THRU-HOLE
INNER DIAMETER .397”

CERAMIC
BAR

ALNICO 5
UNBEVELED

NECK NORTH

NORTH
SOUTHBRIDGE

FRET SIZE: MEDIUM JUMBO NECK PROFILE: MODERN “C”

TRUSS ROD NUT P/N 0038454000

SADDLE HEIGHT ADJUSTMENT SCREW 
P/N 0075536000

SADLE HEIGHT ADJUSTMENT WRENCH:
.050” HEX KEY P/N: 0018531049

LOGO: DECAL STRAT MEX 2008 UPGRADE
APPLIED UNDER THE FINISH

BUSHING KEYS PING
P/N 0058820049

KEY GTR DUAL PIN MNT 
PING P/N 0037429049

.820”

.870”

PLEASE NOTE: AS EACH NECK
IS SANDED & FINISHED BY 

HAND, THICKNESS DIMENSIONS
MAY VARY SLIGHTLY FROM

THOSE SHOWN.

.050” HEX

Ø .390”

3/16” HEX
Ø .312”

6.4 - 7KΩCERAMIC
BARMIDDLE SOUTH


